CBSE Class 10 Science Qs Paper 2018

SET -1
. Jig .
Series : TYM Code No. 3 1 / 1
T Tieefl Sl I ITH-GETHI o TE-TS
Roll No. R e |

Candidates must write the Code on
the title page of the answer-book.

® HUAT A L o foh 38 TH-TA H YfGd TS 12 % |

o - 1 gife 811 3l 3R T T h1E TR oh B I -JETeh! o TE-T8 W o |

o U ST HL A fh T IHA-TA F 27 WA F |

o THUAT T H I TG TE A & U8, T 1 huieh vy ford |

o TH Y- % e & o1 15 T o1 wwey feom o 2 | e - o1 o qatg # 10,15 591
TR SIT@m | 10.15 S | 10.30 S Tk BT Shealel YT i Tgil 3R 38 74 6 R o
ITR-YfETehT T HIE I T8l fore |

e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

foqm

SCIENCE
fREa aae - 3 g2 BT 3F 80
Time allowed : 3 hours Maximum Marks : 80
31/1 1 [P.T.O.

https://toppersacademy.app/



o= e

(i) 39 9797 HI § YT, YT 37 3K YT &, F FieT T E | 37961 G 9T F J9H & I
fergd & |

(i) G g7 A &

(iii) 3TTTHI YT 37 IR T T 3 G} 71 @ I GAH-gIF YT 3 IR T @ & /

(iv) T&T YT 37 & T 3 & A1 I571, Gie 37 & & 71 IR 91T T 7§ 37% & T Jo7 7
S7TTRF I 15T TT 8 |

(v) T 37 3 9T G&IT 1 3K 2 h-U 37 3 J97 & | 379 It G Jeg 79T T 1T 7
& |

(vi) N7 37 % T GEIT3 85 G-l 371 & F97 8 | 579 IR T 30 TGl H a7 8 /

(vii) YT 37 & Fo7 G&IT6 & 15 T~ 37 & F97 & | 57 FT ATHT50 Isg) 5 a7 8 /

(viii) HT7T 37 3 J97 G&IT16 G 21 G-I 3] & 97 & | 5799 IR TTHT 70 5] 7 57 8 |

(ix) 9T & 3 97 G&I7122 T 27 JIITIHS HiveT T HTERT @-2F 3h1 & J97 8 | 379 I
GRITHE |

General Instructions :

3111

(i)  The question paper comprises two Sections, A and B. You are to attempt both the
sections.

(ii)  All questions are compulsory.
(iii) All questions of Section A and Section B are to be attempted separately.

(iv) There is an internal choice in three questions of three marks each, two questions of
five marks each in Section A and in one question of two marks in Section B.

(v)  Question numbers 1 and 2 in Section A are one-mark questions. They are to be
answered in one word or in one sentence.

(vi) Question numbers 3 to § in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on practical skills. Each
question is a two-marks question. These are to be answered in brief.
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Section — A

T o Teh TART § ST 1 o6 qOd} ATt HeX o Wil sh1 HohtuT The el aTet Het o Wi &
AT T | F, Tl § 91 GO I 8 7

A Mendelian experiment consisted of breeding pea plants bearing violet flowers with

pea plants bearing white flowers. What will be the result in F; progeny ?

STt Terga T W B aTet St -S U= i |

Write the energy conversion that takes place in a hydropower plant.

WIS AT <X I Tig TR 3T o |19 443 K T ITH i T hIg STEq Aeh
Y’ sFaT B | A@ifes X wifeIm arg @ off srfufkn st @ e i vl e 2
fepardt 8 1 X0, Y’ QU7 ‘Z° Bl UEEIHT | Y’ 3 BN hl THEH AR i
TefteRtr off forRaw e saw arg Terfes 31 61 fieht w1 Ieor@ ot Hifr |

A compound ‘X’ on heating with excess conc. sulphuric acid at 443 K gives an
unsaturated compound ‘Y’. ‘X’ also reacts with sodium metal to evolve a colourless
gas ‘Z’. Identify ‘X’, ‘Y’ and ‘Z’. Write the equation of the chemical reaction of

formation of “Y’ and also write the role of sulphuric acid in the reaction.

(a) WG H UTC ST aTel U T8 Hadt TTE 74T Ueh W <t A ferfa |

(b) = fou T = % verg 3@, fed g faega e & w9 § T wd ], B
310 I gfectent T Eiaeht 398 a 3R b 1 A ferfew |

g | — | a | — | b | — | e o 3ifom

(a) Name one gustatory receptor and one olfactory receptor present in human beings.

(b) Write a and b in the given flow chart of neuron through which information

travels as an electrical impulse.

Dendrite | ——> | a | ——> | b | —— | End point of Neuron

3 [P.T.O.
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Ffe foreft Tiefa gdur gro 3aes ame @ fomar 1 foneht oft feufa < oo wiea & forar ot
Hien 37T A1es § Bier Afdfoms sa 8, 1 T8 UV fohd TeRR T & 7 37U 3T I gfee
fore Arifera feror sm @i |

If the image formed by a spherical mirror for all positions of the object placed in front

of it is always erect and diminished, what type of mirror is it ? Draw a labelled ray

diagram to support your answer.

T (3raeres) tfufsrenat o 3rfirenTien ol dig o ToTu a1 a1 ST 312 JehTST 37T
ToreIa St <t STTaverehal Bidl & | Tceh SR ht forrie atfrfsran, forem e, yepm 37
Torera St St 3mgfed <hi STt B, o foTu weh - e Tremeh wieR ferfiaw |

Decomposition reactions require energy either in the form of heat or light or electricity
for breaking down the reactants. Write one equation each for decomposition reactions

where energy is supplied in the form of heat, light and electricity.

Topeft TTett & gHeR e & 5 e oiet 3UH 2 mL Hifedw gsgiadTss i faerm
STEAT T | U@t ht arft <l T hid W IS 19 IcHfoid g8 fordeht wieun % ¥ qd
3 T % Toeraa @ yenfea fohan man forad 719 & qerget a9 | 89 areft tfafshan s
THiRTT TUT 39 9 o T o foe wdew fafee | afe =& a1g fret yaat 3wt & g
fererem @ srf¥fsran 6, O S e ScatSia grft Seem 7 foriay |
AU

YIS ol TTfCRe 3T WEAT ST & foTe U foht ST et fereft @iaror &1 pH 9T 14 2 |
3G U] 1 AT a1 3ok fAmior < fore tramafres wieton ffau | gaeh g 3uim i
EEIEEISG

2 mL of sodium hydroxide solution is added to a few pieces of granulated zinc metal
taken in a test tube. When the contents are warmed, a gas evolves which is bubbled
through a soap solution before testing. Write the equation of the chemical reaction
involved and the test to detect the gas. Name the gas which will be evolved when the
same metal reacts with dilute solution of a strong acid.
OR

The pH of a salt used to make tasty and crispy pakoras is 14. Identify the salt and
write a chemical equation for its formation. List its two uses.

4
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(a) RIS o JTfereRTeT AfiTeh feregd o elTereh i Bid & ?
(b) Toreht UF Tged AT 1 AW SR IHhT T ST e e T I 6 €9
T sHafeyd gid 8 | 39 AifiTeh o Iufera shet e <ht T fofau |

(@) Why are most carbon compounds poor conductors of electricity ?

(b) Write the name and structure of a saturated compound in which the carbon
atoms are arranged in a ring. Give the number of single bonds present in this

compound.

freferfaa sma.aeh gl gro anfard gTHT 1 9 U1 Tcdieh o1 Th Yo feTiay |
(a) @A (b)) I (¢) I=EH

Name the hormones secreted by the following endocrine glands and specify one

function of each :

(@) Thyroid (b) Pituitary (c) Pancreas

IANTh ST 3R ek S o 19 Teh 3= faifgu | 37cifies S 6 dredt 31eren
RAfiTeh S R aTelt TRl § | fopEeh g WA wfiRfiS i STRSiitaar < 39aThd
Ty TART B Tehdl & 7 319 TR < gfse o forw smor <ifre |

Write one main difference between asexual and sexual mode of reproduction. Which
species is likely to have comparatively better chances of survival — the one reproducing

asexually or the one reproducing sexually ? Give reason to justify your answer.

ST o AT o T fARay | ug “ferelt Aream =1 st sroedre” i samen Hifig

3R 39 U 7T FaTd § Yepr1 <hl =Te o S o HeY I G o 1Y =S [TRa |
CREN

fopet i@ <h1 &FaT | F1 ATcqd & 7 38eh1 ST AT TR | SIS BT 40 em WishE gl

oIH ITATT HT TET & TAT Hig 37 B 20 cm BIHH G 1 o1F ITATT HL T & | 3 Gl

<iat <6l Tehfer 3 aman ferfia |
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State the laws of refraction of light. Explain the term ‘absolute refractive index of a
medium’ and write an expression to relate it with the speed of light in vacuum.

OR
What is meant by power of a lens ? Write its SI unit. A student uses a lens of focal

length 40 cm and another of —20 cm. Write the nature and power of each lens.

g RISy foh o wfcRieeni, fomH weis &1 Jflig 9 Q 7, W1 3119 fohd TR Tiid sl
T wIem 1 go 9fedie (i) 13.5 Q, (ii) 6 Q I & ?
YT
(a) ST 1 A1 Frem ferfee |
(b) < forera oivq T8 | T 1 3THAs 100 W; 220 V 7T Q8L T 60 W; 220 V 7,
foreht ferega e & wr TwesRn o wAfTa § | Afe ferega smafd s deedn 220 V 2,
@ S Seai g forgd 79 9 Tt 9w < STt 2 7
Show how would you join three resistors, each of resistance 9 Q so that the
equivalent resistance of the combination is (i) 13.5 Q, (i1) 6 Q ?
OR
(a)  Write Joule’s law of heating.
(b) Two lamps, one rated 100 W; 220 V, and the other 60 W; 220 V, are connected

in parallel to electric mains supply. Find the current drawn by two bulbs from

the line, if the supply voltage is 220 V.

(a) Toret =Teren, TEehl STTRfd AR St &, 1 Siatie 9 sehi W ¥R ot &, Seht

il sH1T |
(b) &gy ferega Y STt ATeTsh AT i A T HTeTeh I T & 7 SHROT SIAT |
(c) o amam et & ST fasmgati ot ST R foher STaT @ 2 e €T |
(a) List the factors on which the resistance of a conductor in the shape of a wire
depends.
(b) Why are metals good conductors of electricity whereas glass is a bad

conductor of electricity ? Give reason.

(c) Why are alloys commonly used in electrical heating devices ? Give reason.
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forelt foremmeta < BT 3 Wd:HTel G491 | I8 FAER G 6 feeell § g &l his 96d
IS ® T 3R % AT 39 Tere | o Tff | o o oft et 21 e 31 X 3R
Sftheh ST 21 T | ek weled | sifge T ° oft SEt fowe ==t Y qen Bl | R
HET 1 §A QIS o [T T | 3F=ad: B A qf 63Tl o1 f5ehy ket — vt 98 §
o ST ST &7 3091 hid & SHHT Y6 1 T o, 7T g I8 Toh Tl &R oX 0 %m

FHST 39~ L |

(a) T HST EH 39~ HLd & IHeh TS-EH o gl U GIATT |

(b) Tl TR T, 0 & FH HF1 39 A o [T 30 F1 L Fehdl & 7 @ foig T |

(c) 39 v ¥ freres wated 7 f weal & fower # ol 1 e & 399 @ @ g
T ST |

Students in a school listened to the news read in the morning assembly that the
mountain of garbage in Delhi, suddenly exploded and various vehicles got buried
under it. Several people were also injured and there was traffic jam all around. In the
brain storming session the teacher also discussed this issue and asked the students to
find out a solution to the problem of garbage. Finally they arrived at two main points
— one is self management of the garbage we produce and the second is to generate

less garbage at individual level.
(a) Suggest two measures to manage the garbage we produce.

(b) As an individual, what can we do to generate the least garbage ? Give two

points.

(c) List two values the teacher instilled in his students in this episode.

Y R AT 8 ? BH SS9 FI ST I18d & 7 9 Sidl ol Huin wa g9 o oA
SIS o1 &I WEHT A18T, dqTieh TAFIT AN § A S+ &, 37T Ieeid hifaTT |
What is a dam ? Why do we seek to build large dams ? While building large dams,

which three main problems should particularly be addressed to maintain peace among

local people ? Mention them.

7 [P.T.O.
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(a)

(b)

(2)

(b)

(a)

(b)

(©)
(2)

(b)

(©

(a)
(b)
(c)
(d)

Tfshaar Soft & e A YT o HEMHE IAEHT T g AgT & Fshor At fafy &
=i <! feTfau |

HIW (A9 o HohI3S 3Th H hiqL o1 eyt ford TehR fomam Sian & 7 sy
% faftr= =ont < e TamEfie Tt dtd HIifaT | SR & foega st
TTCShuT T ATHTIhd TR FfT |

Write the steps involved in the extraction of pure metals in the middle of the

activity series from their carbonate ores.

How is copper extracted from its sulphide ore ? Explain the various steps
supported by chemical equations. Draw labelled diagram for the electrolytic

refining of copper.

3NYgHeh 3TEd ARl 1 fohE STaE, =Ieive qT HUSE® o TR Sl <
ST B TR 2 | $ A1 ST <hl Teh-Teh ITATS 3T Teh—Teh HIHT 1 FH SIS |
34 aTTeh o1 A foaRaw frem Tevem =g gurten fob foreft aea sht wmme] e 3deh
TTHTY] ST h1 ot § 371k ST TUren 8 |

3yl e frm fafaw |

The modern periodic table has been evolved through the early attempts of
Dobereiner, Newland and Mendeleev. List one advantage and one limitation of

all the three attempts.

Name the scientist who first of all showed that atomic number of an element is a

more fundamental property than its atomic mass.

State Modern periodic law.

R % fepei < STera BT Seoi@ HIT |

IR T AT IS — ST FfeR o T o1 9o farfaw |

afetre 3 et o ofter aredi w1 s fafa |

AT 3T AT % ForeAl o e i3 Teh HlaIcHeh =1 [ |

YAl
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(a)

IS sht it fefan |

(b) IR H AT YR} I Teheh o1 AW TTRaT |

(©)

(a)
(b)
(c)
(d)

(2)

(b)
(c)

(a)

(b)
(2)

(b)

A o 3IES qF 1 ARG TIEC 3R 3G W Ie8H 7 & 36 WHT I AT

Hifvu -

(i) NIRRT HEE |

(i) 7 oresft AfeTent & 3T garh & g Tiad e § |

(i) TSEH I3 A T g YugTid TEdT # |

Mention any two components of blood.

Trace the movement of oxygenated blood in the body.

Write the function of valves present in between atria and ventricles.

Write one structural difference between the composition of artery and veins.
OR

Define excretion.

Name the basic filtration unit present in the kidney.

Draw excretory system in human beings and label the following organs of

excretory system which perform following functions :
(i) form urine.
(i) is a long tube which collects urine from kidney.

(ii1) store urine until it is passed out.

T HIET S o b 1 U T Tedieh T o1 1Y felRaT
() 3USEE, (i) JeaTtel, (i) T
AT hl AT 3N 1 1 G § 9ui shife | 5

Write the function of following parts in human female reproductive system :
(i) Ovary (i1)) Oviduct  (ii1) Uterus
Describe in brief the structure and function of placenta.

9 [P.T.O.
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(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(2)
(b)
(©)

(a)
(b)
(c)

13 B T 3 m g W e wamdg W fore 318/ o T2 T8 o T | 38 o1
o gfe-gm & fifea 2 3eepr am forfaw | 59 < & e swor fafau 3tk soes
Tt <6t fafer st samen i |
AR | feAfentd € 7 e Hif |

3T
e 93 % R e e geIs a1 wE fefe
() gaeft, (i) TiaTienT, (i) e @@, (iv) aemTdt afdmt
TR Y R TG &I 8 7 1 hIs STaRerEnt 36 afteedr i da
g HT Rt SR FhAT B 7 319 3T <ht gfee & foaw Hwer S |

A student is unable to see clearly the words written on the black board placed at
a distance of approximately 3 m from him. Name the defect of vision the boy is
suffering from. State the possible causes of this defect and explain the method
of correcting it.
Why do stars twinkle ? Explain.

OR
Write the function of each of the following parts of human eye :
(i) Cornea (ii) Iris (ii1)) Crystalline lens (iv) Ciliary muscles
Why does the sun appear reddish early in the morning ? Will this phenomenon

be observed by an astronaut on the Moon ? Give reason to justify your answer.

RATH o1 99 &% 3 faRau |
forera WX o1 wRIwRT g fafaw |
forgga mre o =l fou T Wit 61 sl feiRam |
(i) SR ()T (i) foved ge
State Fleming’s left hand rule.
Write the principle of working of an electric motor.
Explain the function of the following parts of an electric motor.
(1) Armature (i1) Brushes (ii1) Split ring
10
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T —9

Section — B

foret B 3 @ TEAle A 3R B § foTu T 3TRRE Tetkhe qUT I Hethe o STl
forerrt # Tgfufem oTg % %o e SToT | TR 3 R W H 389 C 3R D TEHferEl §
el foru e egfifem dethe 3 I Hethe % el faerami # 3R u1g & ghe
T1ol | Tere S1eya fore aReHor © 38 BT &1 U1 1 uited f@Tg M ? 38 WA % ATUR
W Iooid HIFTT T 1 it o1 Fariferes stfrfsprmsfic & s |

A student added few pieces of aluminium metal to two test tubes A and B containing
aqueous solutions of iron sulphate and copper sulphate. In the second part of her
experiment, she added iron metal to another test tubes C and D containing aqueous
solutions of aluminium sulphate and copper sulphate.

In which test tube or test tubes will she observe colour change ? On the basis of this

experiment, state which one is the most reactive metal and why.

1 Yot o Strar & Sie fopd) wgaet # fow u afem seiise & fafermm @ aifesm
Hothe Taeraq T Strar 2 ¢ affrfera vamfies stfifsean w1 qoamafae gt qer 3q
TeR0T | B4 aTed] AT o TehR o1 A faifgu |

What is observed when a solution of sodium sulphate is added to a solution of barium
chloride taken in a test tube ? Write equation for the chemical reaction involved and

name the type of reaction in this case.

Toref) ot o feseten | Tt <1 J&q01 o o foTU reameft 3Tgor dam ot <ht ufshan o =on
hl = T3 |

List the steps of preparation of temporary mount of a leaf peel to observe stomata.

TS o S <hl TR T AT TARET | 8ok S <hl STsha o fafy=T =rort =t 3faa shm
¥ fafoa i |

e
18 BT A § Yoo GRT 3AfiTeh S o Tl =wom <ht wermrft Temge 1 qewestt gr
TeI0T L TET 8 | I8 TATSS H S He J&07 hidl & 39 TT@ Giaeht (shHaR) gIIsy |

11 [P.T.O.
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Name the process by which an amoeba reproduces. Draw the various stages of its
reproduction in a proper sequence.

OR
A student is viewing under a microscope a permanent slide showing various stages
of asexual reproduction by budding in yeast. Draw diagrams of what he observes.

(in proper sequence)

4.0 cm TS 1 HIg foral 20 cm BIHH g o fohHl I <@ & TR &5 ‘O”
30 cm 0 W T&d 2 | s e Wi sl feufa o |mss Id s % foptor smt@
Hifu | 39 3@ ¥ Y g <O’ d1 &I ®ihd ‘P 3ifeha Hifve | wfafers i
Fag 37 ferar 1 =g o1 ety ST ot 3a A |

An object of height 4.0 cm is placed at a distance of 30 cm from the optical centre
‘O’ of a convex lens of focal length 20 cm. Draw a ray diagram to find the position
and size of the image formed. Mark optical centre ‘O’ and principal focus ‘F’ on the

diagram. Also find the approximate ratio of size of the image to the size of the object.

Tereft ferieres, freept afemier (R) 2, & waTted foega am (1) 37t 3ush il & ot qegedt
faverat (V) & wH i fou o sEn E

V (Ai?) 05 (10| 15|20 |25 |30] 40|50

I(TR) | 01 ]02|03|04]05]06]|08] 10
TR (1) 3R faveT=R (V) & st= 0w Eifew 3R Ifatierss o1 Ifade (R) F1d it |

The values of current (I) flowing through a given resistor of resistance (R), for

the corresponding values of potential difference (V) across the resistor are as given
below :

V (volts) 05110 ] 15|20 |25 301 40]50
I (amperes) | 0.1 | 02 | 03 | 04 | 05| 06 | 0.8 | 1.0

Plot a graph between current (I) and potential difference (V) and determine the

resistance (R) of the resistor.

12
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